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SM A
Yy HUYATESS(SHLBB/HS)
Sol: HYAEX S4 (el @ e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
= 70,000 70,000 0
< 15,000 10,000 5,000
Al 1,769,137 1,824,676 55,539
HLAEE 29 1,349,788 1,361,388 A 11,600
401 A& H L 20l 670,506 682, 106 A 11,600
01 Al&HI 668,400 680,000 A 11,600
O=® HYAT=OPHHO AIRE ZX(B)
ZH 66,000,000 66,000 70,000 A 4,000
OLLUH+SHU HLANIIT &0 &2 (R
2) 2 42,400,000 42,400 50,000 AT7,600
EECGANEE 29 233,200 251,188 A 17,988
101 Q121 bl 18,700 25,688 6,988
04 JIAH2E2NSE S 18,700 25,688 6,988
OZSHANEY 2 () 18,700 25,688 16,988
LTI 4,720 8,602 13,882
=g ZH 51,760 *1 2 +452 2,330 6,212 13,882
A& 2 13,980 17,086 ~3,106
=g ZH 51,760 4% +452 9,317 12,423 ~3,106
201 Yute | 29,400 40,400 A 11,000
02 ZZ =l 14,400 25,400 A 11,000
O1.3ZQ32LHAl 10,400 12,400 £2,000
~HIIB(BY) 2% 200,0008 18 200 1,200 A1,000
AT R(EZ) 2H 200,008 18 200 1,200 A1,000
O3. Al &2 ZHI R X ] 0 3,000 ~3,000
~ANE SR BRI (FA2) 25 08 0 3,000 £3,000
O4. 42 o Bl 4,000 10,000 /6,000
-NES SRU(EZ) ZH 4,000,0008 4,000 10,000 £6,000
EEAEI L 2B HLYATE (43 13,000 20,000 AT7,000
307 212+0| & 13,000 20,000 A7,000
04 QIFBALANR 2 13,000 20,000 A7,000
OANFI U 2AS HLAEX (3I(BZ)
25 13,000,000 13,000 20,000 A7,000
HMUANY BAZSLHE X8 21,049 40,000 ~ 18,951
307 912+0| & 21,049 40,000 A 18,951
04 QI2ESHALAN DS 2 21,049 40,000 ~ 18,951
OBMTAY MRBEUS(BZ)
2N 21,048,490 21,049 40,000 A 18,951
ook FIiel HiC+ s 33,800 28,800 5,000
< 5,000 0 5,000
Al 28,800 28,800 0
307 212+0| & 33,800 28,800 5,000
< 5,000 0 5,000




SA: YA D
M HYATEZSH(SHLBH/HS)
Sl HYAEE S4 (B9 ®R)

Off &t 24

Al 28,800 28,800 0
33,800 28,800 5,000
HICH= S THEl (45X)
23 33,800,000 33,800 28,800 5,000
(= 5,000 0 5,000
Al 28,800 28,800 0
HEES(HAMADN)(SHLA/H L4 - HE) 21,912 8,928 12,984
CRSPNES 21,912 8,928 12,984
BHE 2| E} 21,912 8,928 12,984
802 EH& 3 DI EF 21,912 8,928 12,984
02 Al - THIEBEZEHEZ2 14,942 1,958 12,984
02016E GHL=2F BHOAMLEH L SHE(0IX
ZE) 192,550 193 0 193
02016 SH+2F QIHIAXQS QMY (0| X E
&) 3,280,470 3,281 0 3,281
02016 dH+=2F QHIAXQA ZH XK (0K
ZE) 3,539,490% 3,540 0 3,540
02016 dHt2le=HIS L SSHILEX R (
Ol Xt L &) 5,969,960 5,970 0 5,970




